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4X5 [4X8 |6X5 |0X10 |IX7 [6X2 [5X9 |7X4 [|3X6 |3X9
4X5 \4;8 6X5 |0X10 |IX7 [6X2 |5X9 |[7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |1X7 [6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |1X7 [6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |1X7 [6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |1X7 [6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |1X7 [6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 [6X2 |5X9 |[7X4 |3X6 |3X9

4X5 [4X8 |6X5 |0X10 |1IX7 |6X2 |5X9 |7X4 [3X6 |3X9
4X5 \4%8 6X5 |0X10 [1X7 [|6X2 |5X9 |[7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 |6X2 |5X9 |[7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 |6X2 |5X9 |7X4 [|3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 |6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 |6X2 |5X9 |7X4 |3X6 |3X9
4X5 \4%8 6X5 |0X10 |IX7 |6X2 |5X9 |7X4 [|3X6 |3X9
4X5 \4%8 6X5 |0X10 [1X7 [|6X2 |5X9 |7X4 |3X6 |3X9
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30 = X 30 = X
30 = X 30 = b4
30 = X 30 = X
30 = + 30 = +
60 = X 60 = X
60 = X 60 = b4
60 = X 60 = X
60 = + 60 = +
60 = + + 60 = + + +
15x2 = 15x2 =

15x 3 = + 15= 15x 3 = + 15=
15x4 = 15x 4 =

15x 8 = X2-= 15x 8 = X2-=
60 - 15 = 60 - 15 =
30-15 = 30 - 15 =
Complete - Complete -
45x10= 45x10=

80x 10= 80x 10=

498 x 1 000 = 498 x 1 000 =

165 102 x 1 000 = 165 102 x 1 000 =
100 x 98 = 100 x 98 =

100x5 = 1005 =

10 000 x 67 = 10 000 x 67 =

951 x 1000 = 951 x 1000 =
15 x 10 000 000 = 15 x 10 000 000 =

1 000x 1000 = 1 000x 1000 =
16x ...=160 16x ....=160

100 x ... =6 800 100 x ........ =6 800
78 x ....= T 800 T8 x ....= T 800
TX o, =70 000 TX o, =70 000
459X ... =459 000 459X ... =459 000
35 X . =350 000 35 X =350 000
10X e, =200 10X e, =200
10X e, =100 10X . =100
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